Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 1 - Speyside Glenlivet

3,639

3

910

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Angus ANDERSON	Scottish National Party (SNP)	698
Louise Margaret LAING	Scottish National Party (SNP)	776
Derek ROSS	Independent	858
Walter WILSON	Scottish Conservative and Unionist	1,307
	Total	3,639

Candidate Walter WILSON Elected with 1,307 votes, being in excess of the quota of 910

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Walter WILSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Angus ANDERSON	23	0.30374	6.98602
Transfer to Louise Margaret LAING	21	0.30374	6.37854
Transfer to Derek ROSS	818	0.30374	248.45932
Transfer to Walter WILSON	0	0.00000	0.00000
Value of non-transferable ballot papers			135.17612
	Total		397.00000

N.B. The figures may not add due to rounding.

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Derek ROSS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Angus ANDERSON	69	0.05393	3.72117
Transfer to Angus ANDERSON	100	0.17755	17.75500
Transfer to Louise Margaret LAING	102	0.05393	5.50086
Transfer to Louise Margaret LAING	185	0.17755	32.84675
Transfer to Derek ROSS	0	0.00000	0.00000
Transfer to Walter WILSON	0	0.00000	0.00000
Value of non-transferable ballot papers			136.63554
	Total		196.45932

N.B. The figures may not add due to rounding.

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Angus ANDERSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Louise Margaret LAING	46	0.05393	2.48078
Transfer to Louise Margaret LAING	69	0.17755	12.25095
Transfer to Louise Margaret LAING	17	0.30374	5.16358
Transfer to Louise Margaret LAING	617	1.00000	617.00000
Transfer to Derek ROSS	0	0.00000	0.00000
Transfer to Walter WILSON	0	0.00000	0.00000
Value of non-transferable ballot papers			89.56688
	Total		726.46219

N.B. The figures may not add due to rounding.